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SARDAR PATEL UNIVERSITY
B.COM. (Semester - VI) Examination —Jufy - 2023
UB06CCOM53/23 — Business Mathematics & Statistics - VI

Date: 2F-F 2023, Thuisday

Time:160.60 A.M To 61.00 P.M.

Note: Figure to the right indicate full marks of the questions.

Total; 70 Marks

Optimism(oﬁ) =0.6

Q:1(A) | Define and explain Probability distribution of the discrete random 08
’ variable . Define raw and central moments.
Q.1(B) | From the given .frefquency distribution calculate the first four
) moments-about the mean. ‘ 10
Xigl. 12, (3,44 | 5.1 6.17.] 8 19
Fii L[ 6. [13.]25] 304 220 9.1 5. | 2.
OR '
Q:1(A) | Explain the meaning of skewness and kurtosis . 08
Q:1(B) | TFrom the given frequency distribution calculate moments about
assumed mean 25‘ and convert them into central moments. |
L 10
x4{ o010 | 1020 | 2030 | 30-40
7 R 01 03 - 04 02
Q:Z(A) Explain the meaniﬁg of Decision Theory and also explain Maximax | 07
Criterion.
Q:2(B) | From the given payoff table, determine the best act using the following
criteria.
(a) Maximax (b) Maximin. ( ¢} Hurwitz with coefficient of | 10

Act Stateé of natﬁr‘é
P. Q. R.
A {10000 | 6500 | -4000
B 8000 | 6000 1000
C 5000 5000. | 5000
] OR

Mo, of Printed Pages: £

FT e




()

Q:2(A) | Explain the terms. (1) Maximin principle (2) EMV (3) Hurwitz | 07
principle . o 7
Q:2(B) | From the given payoff table, calculate and tabulate the EMV for each
act and using the EMV criterion, decide the best act.
- 10
State of nature. : Acts . | Probabilities \. :
A B | C A | B | ¢ |
P L do. | o100 | 60, | o065 | 060 | 035
Q. 20. | 20| 20. | 020|025 | 045
R. 30. 40. | 20. 0.15] 0.15 | 020
Q:3(A) | Define the following terms. { 08
[. Null hypothesis. 2. Alternative hyﬁothesis
3. Simple hypothesis. 4. Composite hypothesis
Q.3(B) | Priced of shares of a company on different days of month are found to
be 36, 35,39,40,39,41,40,33,34,38. 10
Test the hypothesis that the mean price of shares in the month is 35.
( At 5% level of significance and for 9 d.f. the table value of t = 2.26).
OR
Q:3(A) { Explain Type-l and Type -I errors in detail . 08
Q:3(B) | Two types of batteries are tested for length of life and the following
| results are obtained. | ' 10
Battery. 1 Sample size. Mean life (hours) | Variance
A. 10. - 500. 100
B. 12. 560. 121
Test the hypothesis that battery B has more average life than battery A.
(At 5% level of significance with 20 d.f. the table value of t = 2.086.)
Q:4(A) | Define and explain the A - stat_istics with formula. 07
Q:A4(B) |If a die is thrown for 300, times and following distribution is
obtained. Test the hypothesis that the die s unbiased? -
Numberonthedie]| 1. | 2. |3 | 4 |5 | 6 10
Frequency. 56. 33, 2";7 44. | 41. | 49.
( At 5% significance level and at 5 df the table value of X.'z: 11.07
OR
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Q:4(A) | Explain the analysis of variance for one way classification.
Q:4(B) | From the given data of weekly sales record of three salesman A , B, C
decide whether the average sales of three salesmian differ in size or not
using analysis of variance for one way classification. .
Salesman A. | Salesman B. Salesman C.  ;_
i 20 units. 50 units. 60 units %
30 units. 20 units. 20 units
20 units. 20 units. 30 units.
40 units. 30 units. 50 units
30 units. 40 units. 40 units.
AT 5% Tovel of significance and for (2,12) d.f. the table value of F =
3.88). |
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Y23l | Ul aueadl. (1) 13-ty Reict 2) EMV (3) & Rsilet. 07
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Slregul eallcll otsst s
State of nature. Acts iPr(‘)babili‘tti'e\s
A B C | A | B C
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R, 300 | 40| 20 | oas| 015|020 |
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